FE & B HEME FEE) NS e Y B

#R5EA - 074065048

o4 (Y1) iR ¥FHFESL (EEEEA - M/ HWEEAM : K-8 )
LT EEH HWENEHE tYFEY LEESENE] FE=FB RIS RE
HEHE &fE T {E HEHE &fE hiE HEHE &fl hiE

—W¥ B ZFHE 3,240 3,240 83 67

—H%E =" IR 860 260 55 35 600 99 92

N ZiE 1,200 1,200 83 70

ATL—% HARE 6, 100 1,100 66 59 5, 000 116 12

TARNY R4 ZFHE 90 90 95 89

FRERS =R 290 50 110 110 240 149 142

AIL—h—r—3> RHE 2,115 450 94 69 1, 665 116 71

h—x—v3av J0VET 1, 580 50 66 66 1,530 108 74

FlLax¥aw WAR 930 610 275 179 320 319 223

H—RS FHER 2,180 250 55 42 1,930 88 45

BRMATAHE PR 2,830 240 220 102 2,590 359 95

YIS 43 BERER 700 700 72 65

FTUIALEER LN 1,365 295 220 141 1,070 462 243

TILT4=a—L ZHME 430 160 55 55 210 325 85

RAEVF—FNT FRRE R 1,100 120 99 85 980 216 145

RAIL—nF ZFHER 80 80 116 116

" =GR 350 50 22 22 300 406 211

YAES WARE 50 50 143 143




2% . [UI7E]

REFPEHE ()

I\FihREFETE

HR7ER : HF07406R04R

(BEEAT - R-85-4% )

A E ih FY5EY ERE] FE=HRUIESNERGE & &t
—H®E B EHE 3,240 3,240
—WE = IR 760 760
NG RIE 600 600 1,200
ATL—% mARE 4,090 ,010 6, 100
T4 RINY hT L ZHE 0 90 90
#HEEs SR 50 240 290
G545 X IR 50 200 250
ATL—h—%—>3y RFE 650 , 665 2,315
h—xr—>3 v aovE7F 0 , 530 1,530
¥ Fa 2 40 40
FILA QAT iy =3 710 820 1,530
fMLraxxao mARE 640 320 960
H—RS EHR 250 , 930 2,180
BIEMNT HE FMILE 240 , 590 2,830
yyga 435 BEREE 0 700 700
FUITURILEE mARR 275 ,070 1,345
LAY BER 0 , 400 1,400
AR N BEER 180 180
ABE—FZX NATYwyk REER 470 120 590
ARRA—FR 2= F7—~4 REHE 1,130 770 1,900
TILT 4 =—a—L EHR 160 270 430
Exol FER 710 410 1,120
HAIN=aS THE 580 580
<XkJAYT FER 50 50 100
RBUE— RIS drile 160 980 1,140
ATL—NT EHE 0 80 80
oo oa—A BiE 30 350 380




REFPEHE ()

I\FihREFETE

HR7ER : HF07406R04R

558 . [917E] (S BM . R-$5-4%)
& E i #Ysiy HExTERE] E=HR VISR & &t

J7L/TVR ERER 128 56 184
FTUI7L a4 100 460 560
IS 24 10 60 70
FURYY L BiL 0 32 32
ANLFT Hing 20 20 40
Jal)r4 =R 0 60 60
E W IL—7F 100 , 810 1,910
B % EiGE 0 300 300
A k)R KR FF 0 200 200
Ho5— FER 25 70 95
T L JtiEE 50 50 100
S-S EHE 410 500 910
HoHIL—KR— FRE R 0 50 50
T4 popl]= 200 300 500
AHEFH EHE 40 50 90
FYT7 Wz I8 0 20 20
YAES AR 50 50
T 1t EHE 705 955 1, 660
# ®H 5 F *F = 16, 903 23, 188 40, 091




